P oy BB 1095 ER BLA-EAELAYR
= R -

fent : http://extensionl. mcu. edu. tw/
AR e (02)28824564-8221 ZF 14 (5 A% ) ~ 03-359-3856 4 /] 4e (F* B+ % )

. FRFEAHE xRk

B Lo

P BLF608%E (SAKTE) / S305%E (FFRE)
FEPER 1 6/236/30~T7/2~T/7T~7/97 =

oS LN %T%F"“ (oA %)/ R3S (PFFRE)

B TR R TR O RE YV R D (MR- L

2. UBKT:-BBRFAET

g2

B E202% % (S RE)

FHPERF D 6/12-7/160 - ~ = b= (6/125% 7 > T/165 % w)
PR RS E

3. WK ER{YM

Fr#:?2

e B E202%F (PHBIRE)
PR 1 6/23~7/21 % ~w b =
PARKEF L B A

[(FLFRI M TABME ) 2B o234 2 - B30 483 o

(F2AAREPATL » G BPFRARALIPH TN A 2R 2F A FLYFARTFRET AT & ¢
https://cis. ncu. edu. tw/ApcourseSys/ )

[ +425]

#3h/1~5/30% = &t 47 - ¥y (https://forms. gle/TSpT9Ad1vzRNNETRY) & & 4& & 4% & % (<L iE

HREACAREFAEBFRPE L) PR AHSFE TR AV APER 10 L3 R LB FEFT

R, & THFTSLEARLIRPE D L LB FAF TR A GH P TR - AW H

A 90 E

[ H%E] 2552, 100%/84 » £ 23085 1028 53 o

€ S-ulF)

Lo st b d B A M 2 AR & AR A

2ATM #EHE @ T & ¥ £ Rt ATM R » XM FHEP 2 AP L2 B2 T Ao
FREHGwr 012088 F28T)* AT
BRIt (S A HAE) 10348+8 R & 3 i1 M (3 E2 52)

(FeBlgeAe) 10543+5 B L @3 5L 4/ (7 g2 52)

3.TRMRMY RN ARBHTRRAY X RRP R 2 A LA BT Ak
BFLfE: fAFEAFEARAR F L MERALEAFEBHRA A
55 1 380102089690


http://extension1.mcu.edu.tw/
https://cis.ncu.edu.tw/ApcourseSys/
https://forms.gle/TSpT9Ad1vzRNnETR9

(£~ 5%%]

1. BArigges - B0 kI8 P> doh = B A 342/ + K54 FF > b 3183k o

2. BAMBELHE R FPALEEZ L2 - T RAFOED F R A BRI GO
IS EE SR ¥ RN IR E25 k- PO A

(2% #%]

1. AERFLA BT By, §0

2. MLHBF U FEARET G

3. 4R LIS T R R A B
EATEE IR 24 F o

4, FRE I HREPEAAS 2P L2 - ¥

b, PRE I HRFT P EA G 2= A2 - 3 A 3R

e
s
g
EbS
=
g
TR
=
i
s
(w
I=q
hE
o

[#A2i& R £ ] http://extensionl. mcu. edu. tw/zh-hant/MCU20200313_1

[£# %3]

1. B Briscs 2 2R & chfgd)] o

2. RE R ARE  FEWAD B H I L RBESRH R S ERREFR LG
LALER MR RA XD L RED SRR RE T DL AR T i

A A7 S B 3 FEF AR AL BT G4 %




